[ AR mT [FE |[gE AL |[Eath
110 108 1| &8k TAH/ Nt 34| 65.38
110 108 =B CIHEE (F 12  35.29
110 108 1 [k TAHBURERET 6|  17.65
110 108 2B THER (| 4l 1176
110 108 1| Bk TAHIE =R 40 1176
110 108 | EN ARG EIES 2 5.88
110 108 |Exi AR ISl =N 6|  17.65
110 108 ] | Hk T AH HA 0 0
110 108 1|ZB 45y TS /N 0 0
110 108 1[5y THA 2 () 0 0
110 108 {305 55 T I 0 0
110 108 1[5y TR R (4] 0 0
110 108 1[5 THH I B A1 0 0
110 108 1[4y THRAIZE 0 0
110 108 1[5y THA 5 B LA 0 0
110 108 1|64y T HH EAth 0 0
110 108 | ZFEMRH/ NG ] 1.92




110 108 IEEIEISEN 7| 32.69
110 108 1[FRERE /NG 1 2.94
110 108 | 3 8.82
110 108 EFEE ~ /e 5| 14.71
110 108 kbt 1 2.94
110 108 [ RAE /N 3 8.82
110 108 1B R/ Ne 0 0
110 108 1[E S BLE /INe 0 0
110 108 1 [E RN/ N 0 0
110 108 | G 1 2.94
110 108 1| A= e 1 2.94
110 108 AT EHELH /e 2 5.88
110 108 BT AT/ NG 6|  17.65
110 108 1[F A BN 6|  17.65
110 108 | HERN &S N 4l 1176
110 108 1 [PARFH] BB /NG 1 2.94
110 108 EE ~ /NG 0 0
110 108 | ESINIENEN NS 8]  23.53




110 108 L&Y U H ]G / 50
110 108 1|&I24 H ]G Ji 20.59
110 108 1) &3 A Y/Na 2 5.88
110 108 1|&JA{E H ]G 0 0
110 108 1|1&J61E H §/Na 0 0
110 108 1| SR/ NG 0 0
110 108 S EH/ e < 11.76
110 108 S EH/ e 0 0
110 108 s U < 11.76
110 108 s U 0 29.41
110 108 S EH/ e < 11.76
110 108 S EH/ e 3 3.82
110 108 S EH/ e 5 14.71
110 108 S EH/ e 1 2.94
110 108 s U 0 0
110 108 S EH/ e 0 0
110 108 S EH/ e 1 2.94
110 108 & EH/ e 0 0




110 108 1| = /INE 2 5.88
110 108 1| = /INE 0 0
110 108 1| =/ NE 0 0
110 108 1| =/ NE 0 0
110 108 1| = /INE 0 0
110 108 1| = /INE 0 0
110 108 1| = /INE 0 0
110 108 1| =/ NE 0 0
110 108 1| =/ NE 0 0
110 108 1| = /INE 0 0
110 108 1| = /INE 0 0
110 108 1| = /INE 0 0
110 108 1| =/ INE 0 0
110 108 1| E= 1 /INE 0 0
110 108 1| =/ INE 0 0
110 108 1| E= /e 0 0
110 108 1| = /INE 0 0
110 108 1| &UHr = /INE 0 0




110 108 1BEA et 34 100
110 108 1BEA [EREN 0 0
110 108 1A Erdbm 0 0
110 108 1pERN |=Zdbm 2 5.88
110 108 1R |[PkEm ] 2.94
110 108 13N BT 0 0
110 108 13EA i 0 0
110 108 13N BES 0 0
110 108 1EAN |Z=ZF 2 5.88
110 108 135N PR ] 2.94
110 108 1PEAN B ] 2.94
110 108 135N EMEA 0 0
110 108 135N P TR ] 2.94
110 108 135N FETR 0 0
110 108 1A =l 15|  44.12
110 108 RN |[SEE 8]  23.53
110 108 13EA [FEEKk 3 8.8
110 108 13N =i 0 0




110 108 1R [fEER 0 0
110 108 13N B A 0 0
110 108 135 TR 0 0
110 108 13N SolL 0 0
110 108 13BN i 0 0
110 108 1340 > Gl/DeT 0 0
110 108 1340 > Glaol (& 0 0
110 108 1340 > Glaol (& 0 0
110 108 1SN G 0 0
110 108 RSN GIEM 0 0
110 108 1340 > GREIOM 0 0
110 108 1[3E4N » GHEEM 0 0
110 108 134N G FEM 0 0
110 108 1350 GlREEMN 0 0
110 108 EET |/heT 8]  47.06
110 108 1|IR1E B/ NaT of  52.94
110 108 1EFEZEVNET 0 0
110 108 1 [ZEFZ s B AT 0 0




110 108 1|4 5= | L B B 22 0 0
110 108 | B (= e B 0 0
110 108 1 |ZE =5 a5 A\ B 0 0
110 108 1| (=5 S| LA 0 0
110 108 1= TAH/ DT 0 0
110 108 || =% T2 H TAF 0 0
110 108 1| Z5 5 TR KA 0 0
110 108 1| ZF R TAR N EI TS 0 0
110 108 1= TAH T AEHN R, 0 0
110 108 1| =% TAHBRTEE A 0 0
110 108 1= T AT ER 0 0
110 108 1|ZF R TAH TAENE 0 0
110 108 1 |Z54k T AH ELA 0 0
110 108 1|z TARLIIEH L 0 0
110 108 1|z TARLIIEH L 0 0
110 108 1|ZF TARL2(EH L 0 0
110 108 1= TARE3(E A L 0 0
110 108 1| ZF e TARLAEH L 0 0




110 108 1= TAREJ6(E A L 0 0
110 108 1| ECAD A/ NET 0 0
110 108 1 FEE R A/ NET 2 5.88
110 108 = /INET 14 41.18
110 108 1|2 /INET 14 41.18
110 108 | R = A1 < 11.76
110 108 FEE A/ DNET 0 0
110 108 | [ /INET 12 35.29
110 108 IAFEE /et 22 04.71
110 108 1| FEE el et 1 2.94
110 108 1 PiE /INET 19 55.88
110 108 =R /INET 13 38.24
110 108 || AmE et 1 2.94
110 108 IR A/ NaT 0 0
110 108 Bl = N 3 3.82
110 108 = /NET Ji 20.59
110 108 =R /INET 12 35.29
110 108 AFE et 12|  35.29




110 108 FEE A/ DNET 0 0
110 108 || HIER/ NaT 3 0.98
110 108 | [EEL[EE /NG T 3 18.6
110 108 LN E B/ NaT 13 30.23
110 108 1|/ Nt 13 3023
110 108 L[t EEE/NET 2 4.65
110 108 | [FEES2E/NET 0 0
110 108 1| 2B/ NeT 0 0
110 108 1S TR/ INGT 3 0.98
110 108 L[ FEAERT/NET 1 2.33
110 108 1| AR /N 0 0
110 108 1|H /INET 1 2.94
110 108 1|H HEE 0 0
110 108 1|H HEZ ENAE, 0 0
110 108 1|H HEE HEE S 0 0
110 108 1|5 AE (=5 5\ S AMEE 1 100
110 108 1|H AE =5 50\ B 52 = i 0 0
110 108 1|H B = | T 1S 0 0




110 108 1[5 B S REE I 1
110 108 11F S it EXG IS 0
110 108 1[5 ﬁ%%ﬁ%%%% 0
110 108 11’5 S it ot et 0
110 108 1[5 HAth, 0
110 108 18F et 33
110 108 1[5 /et S 9.62
110 108 11F REF 3 60
110 108 1[5 kS 3R 0 0
110 108 1[5 S | 20
110 108 1|5 EAEE 0 0
110 108 1[5 BT 0 0
110 108 1[5 = 0 0
110 108 1[5 EHATAE 0 0
110 108 1[5 AR | 20
110 108 1|5 Reyh T3 0 0
110 108 1[5 A, 0 0
110 108 1)8F et 47 90.38




